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" H3H: o
245.1 + 100D = 7% 100D =
602.2 + 10% = 7% 102 =
692.6 + 1002 = 3712 x 1003 =
—3x10= {8 x 1004 =
1071 = 768.5 + 1002 =
1079 = 1003 =
2% 10% = 4 x 100D =
1 x 107 = 1003 =
1 x 1009 = 1002 =
4% 1077 = 1 x 102 =
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245.1 + 1079 = 2451
602.2 + 10* = 6.022
692.6 + 1072 = 69260
—3x10=-30

1077 = 0.1

107 = 0.0001

2 x 10* = 200

—1x 10" = -0.0001
1 x 107 = 0.0001

4 x 1072 = 0.004

H HA:

7x 1070 =07

7% 10% =700

3212 x 107V = 0.3212
8 x 107 = 0.0008
768.5 + 1072 = 76850
107 = 0.001

4x 1079 =04

107 = 0.001

1072 = 0.01

1 x10% =100
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